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1. Logical connectives (or operators) of two propositions p and q.

Proposition Name Notation Read As
Negation of p TP ny P
Conjunction of p and g PAQ p amlo\ 2
Disjunction of p and g P vV Z(< P or C\é
Biconditional of p and g @v - -
P> D i and onla e 2

2. Construct the truth table of the Converse, Inverse, and Contrapositive of a conditional

statement p — q:

Convese.  Tvege  Lontimpositie
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3. Let p and g be the propositions

p: It is below freezing.

q: It is snowing.

Write these propositions using p and g and logical connectives.

(a) It is below freezing and sowing.

P

(b) Itis _ng/v below freezing, and it is not snowing. T P AT %/

(c) That it is below freezing is necessary and sufficient for it to be snowing.

IT and om(j i —Y—
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